C11-5.2 - Multiplying Radicals HW

Multiply the following radicals

7V3 x 245 =

7xV3 X 2xV/5 =

3x+5=

(V5)" =

(=1) =

73/3 x 235 =

(2¥x=1)’ =

27 x 3V6 =

10V5x X 3vV7 =

V5x3=

(-+2) =

(Vx—1)" =

7x33 x 2x3/5 =

73 x 23/5 =
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10V5x X 3V7 =

x3v/3x X x4/5x5 =

V3 x+/5 =

2

(- -

(-3vx+2) =

V7 x2=

(332)" =



C11-5.2 - Multiplying Simplifying Radicals HW

Multiply the following radicals

7V3 x 246 = 2V8 x 3V6 = 10V5x x 3v7x =
7xV3 x 2x\/9 = 2 J12%2 % 3vEx = 10vV14x x 3V7 =
2 I 2 2
(V5x) = (3xvV2x)" = (—4/22%) =
733 x 2327 = 7xV15 x 2xV5 = Y8 x2=
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C11-5.2 - Distribute/FOIL Radicals HW

Add or subtract the following radicals

V2(v/5++3) =

V72 ++/3x) =

(V2 +V5) (V2 —5)

(V7 +5x)°

Wx+24+D)Wx+2-1)

27(3V6 +2) = 52V7 +4) =
V7(2x? +33) = V5(6 + V5x) =
W7+ V5T =V5) (V2% +VB)(VZX +5)
(V2 +V7)(V3 ++/5) (V2 +3)(V6 +2)
Wx=34+1D(x—-3+4)
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C11-5.2 - Dividing Radicals HW

Simplify or Divide the following radicals

10 Viz Vi
V5 Vi V4
4+/6x2 8v10
= 8v6x ikl P
3x24/5
2V3x = 6xV2 _ 7xV6 B
4V6 12x2/6
w2 6v5
T2 _
T _ o7 _ o5t
3V3 V63
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